# KENTTENPIN BOWLING ASSOCIATION

# BOWLING NEWS

PUBLISHED BY BOWLERS
... FOR BOWLERS

Views expressed herein are not necessarily those of the Executive Officers of the KTBA

September 1998

Vol.2: No.11.

33rd Year

# For the third year running the KENT LADIES reach the FINAL of the SENIOR INTER-COUNTIES

The Kent Ladies have qualified for the Finals of the Senior Inter-Counties to be held at Wellingborough during the first week-end of October. Over two rounds at Bracknell and Tolworth, Kent won their Group, but the competition was very close. Although there were only four teams in the Group, the result was not decided until the last game. Last year the ladies won the silver medal at the Final and they are looking for similar success this year. The bowlers and their scores for the team this year were:-

	Pinfall	G	Ave.
Jill Houston	360	2	180.0
Sandy Sawyer	1044	6	174.0
Jackie Playford	985	6	164.1
Doreen Lodge	803	5	160.6
Sandy Knapp	635	4	158.7
Peggy Hammond	154	1	154.0

The team for the Final is the top five bowlers listed above.

	5	ATTENDA DE LA CONTRA DEL CONTRA DE LA CONTRA DEL CONTRA DE LA CONTRA DELLA DE LA CONTRA DE LA CO	C TOOTIN
	U	THER NEWS IN THIS	S ISSUE.
		Junior Inter-Counties	Page 2
	•	Future Tournaments	Page 3
		Letters to the Editor	Page 4
1		Tournament Analysis	
I	•	over last eight years	Page 5
1		News from the Centres	Page 6
•		Club Qualification	Page 7
		All-Time High Scores	Page 8
		Puzzie Corner	Page 8
쎋	-		

The senior Men had a very tough group and did not qualify for the Finals this year, but were represented in the two rounds at Bracknell and Tolworth by:-

	<b>Pinfall</b>	G	Ave.
Alan Pallett	389	2	194.5
Chas Painter	1340	7	191.4
Mike Luckhurst	1883	10	188.3
John Amos	1693	9	188.1
Chris Smith	728	4	182.0
Clive Smith	1366	8	170.7
John Boulton	1002	6	167.0
Dave Buck	689	4	172.2

### **Regular Inter-Counties**

The Rounds of the Inter-Counties this year were held at Bexleyheath and Raynes Park. In the usual tough Group of the South-East, neither teams qualified for the Final this year, despite any home advantage by having the first round at Bexleyheath.

#### Ladies

There were one or two new faces in the Ladies team as the Juniors start coming through and the individual results of the team were:-

	<b>Pinfall</b>	G	Ave.
Helen Perkins	943	5	188.6
Elaine Hinch	2232	12	186.0
Sheila White	2141	12	178.4
Lucy Cudmore	1058	6	176.3
Angie Thick	1715	10	171.5
Annalise Edwards	1471	9	163.4
Sandy Knapp	292	2	146.0
Jenny Beale	572	4	143.0
TEAM	10424	60	173.7

#### Mer

The men who represented Kent this year in the two rounds were:-

	<b>Pinfall</b>	G	Ave.
Steve Carnall	2513	12	209.4
Steve White	2234	11	203.0
Keith Allsop	1983	10	198.3
John Hinch	591	3	197.0
Neil Webb	1533	8	191.6
Keith Hodge	1285	7	183.5
James Pateman	1239	7	177.0
Kevin Snook	323	2	161.5
TEAM	11811	60	196.8

The Men's team had four games where they scored over 1000 and three in the 990's but won only four of their twelve games.

#### Editor: J.C. (Jerry) Lodge

All copy, advertisements, letters and donations to:

28 Heathside Avenue

Bexleyheath, Kent. DA7 4PZ

Tel.: 0181-303-5591

Published and Produced by K.T.B.A. as part of the 5p scheme.

"Bowling News" accepts no responsibility for loss or damage, however caused, to any material submitted for publication.

No part of this publication may be reproduced, in any form, without the prior written consent of the publishers.



# Junior Inter-Counties.

by Martin Beale.

The usual pilgrimage to Coventry Megabowl for the county's best junior bowlers was made on September 12th, under the watchful eye of deputy manager Eric Harvey and county motivators David Percival [boys] and Paul Pateman [girls].

Confidence and expectations were higher than usual after the boys succeeded in picking up the bronze medal during last year's Inter-Counties, but the weekend hardly got off to a flier when one of the top ranked junior boys, Andrew Wraight of Whitstable, had to pull out.

Poor Andrew! He had worked brilliantly through last season, making the Junior England team for the Triple Crown home internationals at Carlisle (hence becoming Whitstable's first male junior international and qualifying 20th in the overall rankings for a shot at the European Cup England team for next Easter. Sadly, just before the Triple Crown, he broke his left arm and had to withdraw both from the Triple Crown and the Inter-Counties. He has our every sympathy.

As the inter-county games got under way, it was apparent that we were not going to be in for any big scoring - not from Kent or from anybody, for that matter. Whereas last year, the Kent boys rolled three 1000+ five-man games, the most they could muster this time out was 844. The girls managed just one game over 800 but were still in there on Sunday challenging for a top six round robin place.

Bexleyheath provided the top performers of the competition - Martin Pateman averaged 176 for the boys whilst Annalise Edwards turned in 169 for the girls. Both managed a high game of 202. Whitstable's Helen Perkins and Jennifer Beale also delivered sound performances for the girls, averaging 162 and 156 respectively whilst the top game score overall was 212 from Margate's Ben Marsh. The only other 200 - on the nail - came from Bexleyheath's Nick Weston.

Out of 32 teams, the boys disappointingly ended up somewhere around 16th. The girls, however, managed a creditable ninth.

Boys:	(32 Counties).								
such experience not bed to	1	2	3	4	5	6	Total	Games	Ave.
Martin Pateman [BEX	158	184	182	202	190	142	1058	6	176.3
Ben Marsh [MAR]	144	133	212	158	161	143	951	6	158.5
Nick Weston [BEX]	156	200	137		126		619	4	154.8
James Pateman [BEX]	191	190	151	120	129	118	899	6	149.8
Andrew Senior [WHI]			162	144		139	445	3	148.3
Nathan Clark [WHI]	161	117		139	164	149	730	5	146.0
Andrew Wraight [WH]	] Absent	t, Injured							
Total	810	824	844	763	770	691			
Running Total	810	1634	2478	3241	4011	4702			
Average	162.0	164.8	168.8	152.6	154.0	138.2			
Running Average	162.0	163.4	165.2	162.1	160.4	156.7			
Girls:	(27 Counties)								
	1	2	3	4	5	6	Total	Games	Ave.
Annalise Edwards [BEX	202	149	179	170	180	138	1018	6	169.7
Helen Perkins [WHI]	143	144	141	166	185	198	977	6	162.8
Jennifer Beale [WHI]	162	170	169	139	140	159	939	6	156.5
Alexandra Reed [BEX]	145		198	135	116		594	4	148.5
Carina Machin [BEX]		149	127			159	435	3	145.0
Anne Perkins [WHI]		132		105		131	368	3	122.7
Kelly Lewis [CLI]	103				106		209	2	104.5
Total	755	744	814	715	727	785		12007	104.5
Running Total	755	1499	2313	3028	3755	4540			
Average	151.0	148.8	162.8	143.0	145.4	157.0			
Running Average	151.0	149.9	154.2	151.4	150.2	151.3			

# **FUTURE TOURNAMENT**

# THE "BERT & VICKY TIMMS" MEMORIAL MIXED DOUBLES TOURNAMENT

on SUNDAY 25th OCTOBER 1998

at

AMF BOWLING CENTRE
[former HOLLYWOOD BOWL]
Addington Street, Margate.
Tel. No. 01843-291010

Entry Forms available from your Local Centre

or

The Tournament Manager
John Cudmore, 59 Manor Way, Barnehurst, Bexleyheath, Kent, DA7 6JJ
Tel. No. 01322-554660

### NEW KENT HIGH SERIES for THREE PERSON TEAM

On August 25th in the Roundtable Trios League, a new League and Kent high series was recorded by the team KALAS, with a score of 2147 by:-

Nikki Harvey	215	202	214	=	631
Nathan Clark	215	228	268	=	711
Andrew Giles	277	279	249	=	805

The series of 805 by Andrew Giles is a new Bexleyheath house record, but of course, is not enough to take the Kent high series held by Cliff Dew with 823.

## LEAGUE SECRETARIES

Please do not forget to submit your Final Standing Sheets from your League to the Area Secretary.

This information is required to supply full information to the B.T.B.A. and to keep the Kent Database up to date.

# LETTERS TO THE EDITOR

Dear Jerry,

We write in response to Mr Leeds' letter in the June Bowling News in which he is somewhat critical of the teambuilding techniques employed by the junior teams at the Area Championships at Cliftonville. He is, of course, entitled to his opinion, but it must be pointed out that it is fortunately not one that is shared by the bowling fraternity at large, unless — as he in fact points out - they do not happen to be bowling well themselves at the time.

The two teams in question were not only preparing to defend titles at the biggest junior tournament in the world, the NAYBC National Championships at Nottingham, the following week, but were also each playing for a place in those teams. They knew that they needed not only to bowl well, but also to be good, supportive team members.

It is quite understood by these youngsters that gamesmanship and ungentlemanly conduct are unacceptable at any tournament, no matter how big or important it is. We would suggest that at no time did any junior direct any comments or criticisms at their opponents directly or indirectly, nor did they intend to behave in any way that could be construed as interfering with the bowling of anyone else - unless others have a problem with noise. In fact the captain of one the teams, when it was indicated that a complaint about noise had been received by the tournament organisers. was most concerned, and made a point of repeatedly asking if their team-building was in breach of any regulation or could be considered unacceptable. The answer to this, according to every rule in the book, had to be no.

Team-building is a vital part of any successful bowling team's approach. To this end, extensive congratulation of bowlers by their team-mates for their ongoing achievements is required and encouraged at all times, provided the effort isn't such that it exhausts the bowler before they have completed their games. Juniors are not instructed to chant or make a lot of noise, but, at many tournaments, organisers encourage noisy chanting and cheering with a view to enhancing the competitive atmosphere. The things we all abhor at any tournament, junior or adult, are bad temper, bad language and deliberate

gamesmanship - something our juniors surely cannot be accused of. Concentration is essential, but good bowlers must be able to concentrate whatever is going on around them. After all, decibel levels from gaming machines, tannoys, music and the bowling machinery itself are hardly insignificant.

Perhaps we might finish by quoting Rule 19 from this year's London International, as distributed with the July edition of Go Tenpin Magazine. "Entrants should be aware that cheering and applause will be encouraged at all stages of the Tournament. Bowlers must not wait for silence before bowling." Team bowling competitions would be much less exciting if they did. Yours sincerely.

Martin F Beale, President, for and on behalf of the Whitstable YBC

Dear Jerry,

On behalf of the Kent Junior Sub-Committee I would like to reply to the comments made by Dave Leeds in his letter published in the June edition of Bowling News.

Firstly these "youth bowlers" - as he calls them - are neither instructed to nor discouraged from making a noise while bowling in a team event, the chanting is not intended to distract other bowlers or teams but is used to help themselves gel as a unit, it also keeps them focused on their own team game and acts as a barrier against intimidation from others around them. This includes the bullying tactics of swearing and cursing used by some bowlers who blame anything and everything other than their own abilities when not bowling well.

Regarding the comment over bowling etiquette. Being a sanctioned tournament I did enquire and had confirmed by officials on the day, that it is quite legal to make a noise as long as no mechanical devices are used and the noise is not directed at anybody outside the team. Consequently neither team broke any BTBA or tournament codes of conduct.

As for respect. This works both ways. Did anybody respect the pressure those players were under? Did anybody know

or care that they were seven days away from defending their gold and bronze medal positions in probably the largest and noisiest tournament in the WORLD and each bowler was fighting for a place in the team. No! they didn't. These teams are entered into the Area Championships as part of a team building exercise and to show their coaches how they could handle pressure situations. I thought they did remarkably well considering they faced; whinging, moaning official complaints, abuse and criticism.

The one thing both Dave and I agree on, is the sentence "bowling is like any other sport which is more enjoyable when successful and at times requires a certain amount of concentration". Perhaps the secret of their success on the day was the fact that both teams or individuals had concentrated half as much on what they were doing instead of worrying about what others were doing, they too could have been more successful and in turn may have enjoyed themselves as well. Lastly, I was going to finish as Dave with a proverb, the one that says - "if you can't stand the heat - get out of the kitchen", but that would infer that we are too arrogant and don't care! and that's not true. All these bowlers want is to be successful and be accepted as part of the present as well as the future of Kent bowling. So next time fellow bowlers -BEFORE BOWLING BADLY - maybe you could come and have a civilised chat with the team manager. We may be able compromise to everybody's satisfaction.

Yours sincerely,

Eric Harvey,
Secretary of the
Kent Junior Sub-Committee.

## **KENT TOURNAMENT AVERAGES from 1990 to 1998**

Your Area Secretary and main Tournament Manager, Christine Conner, has kept detailed records of all the K.T.B.A. Tournaments that have been held since the Kent Association was reformed after the disbandment of the South Eastern Bowling Association [S.E.B.A.] in 1990. Listed below are the leading bowlers over this period, those included having bowled at least 36 games. The bowler who has bowled the most games in Kent Tournaments since 1990 is Doreen Lodge with 201 games.

NOTEN			
MEN.  1. Keith Hodge	19850	99	200.5
2. Cliff Dew	8411	42	200.3
3. Chris Smith	22139	117	189.2
4. David Wain	8499	45	188.9
5. Ivan Amos	9031	48	188.1
6. Paul Fox	6753	36	187.6
7. Ricky Post	9000	48	187.5
8. Chas Painter	11222	60	187.0
9. Richard Howland	10629	57	186.5
10. John Amos	12303	66	186.4
11. Mike Luckhurst	20010	108	185.3
12. Neil Webb	17220	93	185.2
13. Paul Crundell	11109	60	185.2
14. Andy Allerton	9941	54	184.1
15. Chris Skudder	22607	123	183.8
16. Clive Smith	9902	54	183.4
17. Kevin Snook	7151	39	183.4
18. Steve White	23643	129	183.3
19. Malcolm Fuller	16464	90	182.9
20. Dave Grant	8213	45	182.5
21. Rod Wickens	11456	63	181.8
22. Alan Haley	8176	45	181.7
23. Clive Mitchell	15711	87	180.6
24. Rob Packman	12987	72	180.4
25. John Hinch	25427	141	180.3
26. Ed Lane	9736	54	180.3
27. Alan Hart	11873	66	179.5
28. Steve McElwaine	11310	63	179.5
29. Simon Young	10157	57	178.2
30. Keith Allsop	19765	111	178.1
31. Tom McQuade	8190	46	178.0
32. Ken Morris 33. Earl Jarvis	12803	72	177.8
	10120	57	177.5
34. Robin Baxter 35. Dave Buck	9576	54	177.3
36. Mike Fields	6908	39	177.1
37 Varia IIII	11155	63	177.1
<ul><li>37. Kevin Hollyhock</li><li>38. Roy Memmott</li></ul>	7966	45	177.0
39. Trevor Myhill	21177	120	176.5
39. Trevor Myhill 40. John Smith	10036	57	176.1
41. Albert Moustache	12145	69	176.0
41. Albert Moustache 42. David Yoxall	11594	66	175.1
43 Alex II-	6321	36	175.6
43. Alex Hoskins	7883	45	175.2
44. Frank Weston 45. Alan Jones	14155	81	174.8
46 David D	13056	75	174.1
46. David Percival	14581	84	173.6
47. Brian Major	7801	45	173.4
48. Spencer Snow	14544	84	173.1
49. Phil Eldridge	10384	60	173.1
50. Dave Carter	7264	42	173.0

LA	DIES			
1.	Jan Hodge	19558	108	181.1
2.	Linda Block	6882	39	176.5
3.	Christine Conner	20421	116	176.0
4.	Sheila White	20385	116	175.7
5.	Elaine Hinch	21174	123	172.1
6.	Sue Trott	9291	54	172.1
7.	Jan Luckhurst	10282	60	171.4
8.	Sally Fuller	15420	90	171.3
9.	Sandy Sawyer	9705	57	170.3
10.	Doreen Lodge	34168	201	170.0
11.	Rosemary Bentley	19352	114	169.8
12.	Penny Allsop	13152	81	162.4
13.	Carol House	7792	48	162.3
14.	Kate Foxley	7774	48	162.0
15.	Emma Drury	9978	63	158.4
16.	Joyce Chapman	8981	57	157.6
17.	Lucy Cudmore	25937	165	157.2
18.	Yvonne Bright	13189	84	157.0
19.	Mandi Shrimpton	20724	132	157.0
20.	Brenda Field	18236	117	155.9
21.	Angie Thick	27579	177	155.8
22.	Beryl Drury	11217	72	155.8
23.	Annalise Edwards	7940	51	155.7
24.	Gill Cook	16314	105	155.4
25.	Dot Edwards	6057	39	155.3

## **CONGRATULATIONS**

Our congratulations go to Christine and Adrian Conner on the birth of their son, **Robert William** on Saturday 6th September.

Robert weighed in at 8lb 7oz.

Mother and baby are doing fine.

Christine and Adrian are most appreciative of all the cards and messages of goodwill that have been sent to them.

## **NEWS FROM THE CENTRES**

## BEXLEYHEATH

by Jerry Lodge.

### Friday Fours League

For the umpteenth time, the league was won by Climax over the 27 week season of this ten team league. The squad of the winning team was League Secretary Ken Morris, Neil Webb, Paul Prestidge, Rob Packman, Fred Spears and occasional reserve Keith Hodge.

Not suprisingly, bowlers in this team finished in the high averages, namely

	aboot merrior
Neil Webb	196.6
Rob Packman	188.1
Ken Morris	185.6
Simon Carter	185.1
Simon Rampling	183.3
Bill Shrimpton	181.8
Adrian Conner	181.4

The leading Ladies in the League this year were:-

Elaine Hinch	176.5
Angie Thick	175.1
Doreen Lodge	172.9
Lesley Pateman	166.9
Within the League, we run a	Single

Within the League, we run a Singles Tournament which was won by Paul Pateman who beat Moss Ryder in the final round. The most improved bowler in the League was Gordon Puxty who improved his average over the season by 12.2 pins.

## CLIFTONVILLE

by John Boulton

#### **Junior Coast to Coast**

The 6th Annual "Coast to Coast" Handicap Doubles Tournament at Bugsy's Bowl Cliftonville produced Junior bowling at its highest level this year.

Of the 18 bowlers featuring in the prize list ten had handicap series over 600 and one over 700, the first four teams being from different Centres.

In fourth place Southampton bowlers Matthew Penny [633] and Suzanne Mackay [564] had a handicap total of 1227, nice to see a new Centre trying their hand in our Tournament and doing so well.

In third place local brothers John Hopkins [610] and Barry Hopkins [646] had a total of 1256, obviously a little local knowledge went a long way for them.

From Chatham in second place were Kevin Cranfield [617] and Lee Robinson [654] a 1271 total, a credit to their Centre and a worthwhile trip for them.

In first place and this year's Champions were a team from Whitstable, Andrew Senior [580] and Nathan Clark [739] for a magnificent 1319 total. Nathan was in scintillating form with games of 236, 201 and 266 for a 703 scratch series, with Andrew's 553 series the combination proved unbeatable.

Congratulations to all our prize winners and thanks to all the bowlers who took part and made this such an enjoyable Tournament.

### **Bugsy's Memorial Trios**

by John Boulton.

The aim of this Tournament is to raise money for charity. This year we raised £425.30 which was divided between the Thanet Paramedics Equipment Fund and the Pilgrims Hospice in Thanet.

The tournament itself attracted eight teams with two coming from Chatham. The format is a Trio Team with lead-off playing a Triplex game, player two a 9-tap series and the anchor a normal three game series. Trophies were on offer for the highest in each category, for Team total pins and for team highest sponsorship raised.

John Carr in the Drive team from Chatham took the Triplex game with 263, not to be outdone Chatham Pentagon Playboys Alan Valsler popped in a 663 in the 9-tap, local player Simon Mellin had a 527 series to take that category.

Overall winners were Pentagon Playboys on 1370 pins, the proud team being David Pitt, Alan Valsler and Jerry Moll. In the Team Most Sponsorship raised were Cliftonville Flintstones, Gary Steventon, Joyce Chapman and John Boulton who raised £195.

All in all, an enjoyable tournament with honours spread around. To all those who took part and those who raised funds I thank you one and all.

Hope to see you all next time and maybe more will join us this worthwhile cause.

## WHITSTABLE

by Roy Fillier

#### Harbour League

For the third year running, the league title was decided on the last night of the season. This year the ROUGHNECKS, led by Ken Barnard took the title from the MISS-FITS by just two points. Surprise team of the year MATCHSTICK MEN took third place.

On the Team and Individual front, the JOKERS led the way with an 859 high game [822 scratch], whilst the MISS-FITS took the Team High Series with a 2310 scratch series [2382 handicap]. They also had an 830 scratch game.

With several bowlers not bowling the necessary percentage required for awards, the Mens High Game went to Earl Jarvis with a 178 average over 102 games, whilst the ladies prize went to Angela White with a 171 average from 105 games. Angela also took the Ladies Hi Game and Series with a 245 game [238 scratch] and a 627 Series [608 scratch]. The Men's High Series went to Simon Coppins with a 688 [652 scratch], whilst yours truly took the High Game with 265 [260 scratch], which incidentally was the first game of the season.

Keith Wilson and Tony Green took the League Doubles title with a 1184 handicap series, just pipping the ladies duo of Penny Lefevre and Pauline Senior. In the singles event, Kevin Snook had a fine 624 scratch [642 handicap] to make Penny Lefevre again the bridesmaid this time by just three pins.

On behalf of myself and the league, I would like to express our thanks for all your efforts over the past year.

## **CLUB REGISTRATION 1998**

This is the first list of Bowlers who have qualified in 1998. A further list will appear in the next edition of "Bowling News"

The criteria for qualification is:-

Bowling News: Vol.2, No. 11.

200 Club - One game of 200 or more by a player with an average of 159 and below, or a first year bowler.

500 Club - A Series of 500 or more by a lady bowler.

550 Club - A Series of 550 or more by a player with an average of 169 or below.

600 Club - A Series of 600 or more by any bowler.

All games or series must be bowled in a BTBA Sanctioned League or Tournament.

All games or ser	ies must be bo	wled in a BTBA Sa	sog DEV	Douid Finnerty	559 BEX	Colin Foster	643 CLI
200 CLUB			507 BEX		563 WHI		653 BEX
Lynn Aslett	203 BEX	Annalisa Edwards			555 BEX		650 CLI
Lesley Barton	200 BEX	Barbara Endicott		Brian Godden Dave Goodwin	625 BEX		622 BEX
Jeannette Bartram	house	Joanne Genovese		Syd Goodwin	617 BEX	Duncan Goodfello	
Jeanner	202 BEX	THE COUNTY	501 BEX		563 CLI	Dunoun Gooms	619 BEX
Jayne Bowman	222 CLI	Peggy Hammond		Dave Harris	611 BEX	Dave Harris	611 BEX
Martin Boyd	203 BEX	Elaine Hinch	551 BEX	Ron Houston	552 CLI	Jan Hodge	687 BEX
George Brindley	200 CLI	Jan Hodge	687 BEX	Colin Jackson	589 WHI	Keith Hodge	655 BEX
Debbie Burford	200 BEX	Jill Houston	535 CLI	Sandy Knapp	561 BEX	Trevor Kochevar	
Terry Connelly	201 BEX	Sandy Knapp	561 BEX		578 WHI	Dave Leeds	604 BEX
Dave Conner	215 BEX	Carole Lakin	578 WHI	Carole Lakin	588 BEX	George McElwain	ne
Gill Cook	216 CLI	Jan Lawrence	529 Bex	Tim Letchford	560 BEX	Goorge	600 BEX
Jeff Cooper	202 CLI	Doreen Lodge	504 BEX	Jerry Lodge Duncan McLellan		Roy Memmott	603 BEX
Julie Cudmore	200 CLI	Jackie Ottaway	519 CLI		585 BEX	Steve Milhan	603 CLI
Spencer Davis	210 BEX	Pat Overy	536 BEX	Alan Openshaw	552 BEX	Brian Millgate	611 BEX
Ken Gillingham	233 WHI	Lesley Pateman	524 BEX	Alan Petherick	551 BEX	Selwyn Morgan	629 BEX
Peggy Hammond	204 BEX	Gloria Pattinson	548 BEX	Vicky Preston	560 BEX	Ken Morris	729 BEX
Sandy Knapp	214 BEX	Helen Perkins	571 WHI	Glen Roberts		Kevin Osborne	600 BEX
Andy Krangel	208 BEX	Jackie Playford	503 BEX	Paul Roberts	565 BEX	Colin Ottaway	615 CLI
Penny LeFevre	204 WHI	Vicky Preston	551 BEX	Mandi Shrimpton		Rob Packman	626 BEX
Steve Maple	205 WHI	Linda Robins	537 BEX	Ted Shrimpton	554 BEX	Chas Painter	613 BEX
Jackie Ottaway	206 CLI	Jan Saunders	588 CLI	Sandra Smith	583 BEX 550 CLI	James Pateman	600 BEX
Pat Overy	231 BEX	Anne Searle	532 CLI	Kevin Stocker		Martin Pateman	623 BEX
Stuart Paine	216 WHI	Mandi Shrimpton		Amanda Thomas		Paul Pateman	614 BEX
Gloria Pattinson	215 BEX	Margaret Shrimp		Howard Thomas	560 BEX	David Percival	629 BEX
Gerald Potts	222 CLI		516 BEX	Barry Young	555 BEX	Simon Rampling	
Vicky Preston	205 BEX	Jo Smith	520 BEX	Simon Waller	627 CLI		619 BEX
Lynda Punyer	201 WHI	Sandra Smith	583 BEX	Ray Waspe	595 CLI	Moss Ryder	647 BEX
Tony Regan	204 CLI	Sarah Stocker	510 CLI	Dave Webster	556 CLI	Dean Saunders	624 CLI
Glen Roberts	232 BEX	Laure Sutherland		Kev Williams	597 CLI	Jan Saunders	657 BEX
Linda Robins	212 BEX	Angie Thick	666 BEX	Eric Woodruff	581 CLI	Terry Saunders	
David Shepherd		Amanda Thomas		600 CLUB		John Scott	654 BEX
Jo Smith	207 BEX	Sylvia Thomas	507 BEX	Ray Allen	609 CLI	Bill Shrimpton	631 BEX
Sandra Smith	244 BEX	Helen Tinnams	515 BEX	Keith Allsop	611 BEX	Chris Skudder	605 BEX
Michelle Stamp	202 WHI	Sheila Webster	505 CLI	John Amos	640 BEX	Chris Smith	634 CLI
Steve Thouless	202 BEX	Sheila White	561 BEX	Keith Andrews	610 BEX	Clive Smith	616 CLI
Simon Waller	213 CLI	Sandra Williams	500 BEX	Alan Anstle	636 CLI	John Smith	677 CLI
Jeff Weatherill	210 CLI	Tracy Williams	542 BEX	Jason Bass	600 BEX	Fred Spears	604 BEX
Dave Webster	204 CLI	550 CLUB		Sam Bass	605 BEX	Angie Thick	666 BEX
Sheila Webster	204 CLI 203 CLI	Paul Allerton	551 CLI	Terry Bolton	611 CLI	Simon Young	616 CLI
	203 CL1	Steve Aslett	556 BEX	Dave Buck	604 CLI	Simon Waller	627 CLI
500 CLUB		Tamara Avery	555 CLI	Steve Carnall	667 BEX	Ray Waspe	632 CLI
Penny Allsop	562 BEX	Mick Brown	568 BEX	Keith Carrett	612 BEX	Neil Webb	622 BEX
Lesley Barton	514 BEX		559 BEX	Simon Carter	611 BEX	Sheila White	639 BEX
Jeannette Bartra		Jayne Bowman	562 BEX	Adrian Conner	618 BEX	Steve White	710 BEX
Jayne Bowman	559 CLI	Alan Cross	582 BEX	Christine Conne		Steve Williams	723 BEX
Grace Coman	527 BEX	Julie Cudmore	560 BEX	Lucy Cudmore	684 BEX	Barry Wilson	620 CLI
Christine Conne	530 BEX	John Darby	646 BEX	Colin Davis	610 BEX		
Marion Constab	de 521 CLI	Spencer Davis		Spencer Davis	646 BEX		
Gill Cook	510 CLI	Jack Denne	575 BEX	Annalise Edwar			
Julie Cudmore	582 BEX	Beryl Drury	568 BEX	THINKING DETTO	637 BEX		
Lucy Cudmore	684 BEX	Barbara Endico	11 362 CLI				Page 7

# **ALL-TIME HIGH SCORES**

From all known records, the current all-time High Scores in the County are:-

High Series			High Game		
FIVE-PERSON TEAM.				BEX	1120
Mean Machine	BEX	3190	Mean Machine	DEA	1130
FOUR-PERSON TEAM.			Deschan	BEX	902
Climax	BEX	2542	Proshop		
THREE-PERSON TEAM.		2147	Pocket Pickers	BEX	762
Kalas	BEX	2147	Dave Grant, Robin Baxter & Mike Ha	ind	
TWO-PERSON TEAM.	-	1204	Chris Skudder & Mike Luckhurst	CLI	513
Clive Mitchell & Keith Hodge	BEX	1394			
MIXED DOUBLES. Sally Fuller & Chris Smith	MAR	1302	D. Nicholson & C. Crowther	BEX	488
INDIVIDUAL LADY.	IVIAIC	1302			
Jan Hodge	BEX	745	Nikki Harvey	BEX	298
INDIVIDUAL MAN.				DEM	•••
Cliff Dew	BEX	823	Pat Duggan [2]	BEX	300
			Mike Luckhurst [2]	CLI	300
			Chris Skudder	BEX	300
			Andy Allerton	MAR	300
			Chris Smith	MAR	300
JUNIOR GIRL					
Annalise Edwards	BEX	637	Helen Perkins	WHI	279
JUNIOR BOY			100.07	WALL	270
Daniel Marsh	MAR	756	Nathan Clark	WHI	279

If you have any information on scores in excess of those listed above, please advise the Editor or the Area Secretary.

## **PUZZLE CORNER**

Compiled and submitted by Rosemary Moll.

	1	2	3	4	5	6	7	8	9	10	11	12	
A	8	B	U	L	L	W	H	1	P	E	Q	E	A
В	D	B	R	H	A	M	M	E	R	U	U	V	В
C	C	E	0	U	E	G	A	R	A	L	R	I	C
D	0	T	F	W	N	R	L	N	Z	B	E	T	D
E	L	R	A	E	L	S	T	I	0	E	T	C	E
F	U	W	E	B	N	U	W	R	N	A	H	A	F
G	M	0	R	G	M	S	P	I	E	S	A	E	G
H	B	L	P	N	N	0	E	M	C	T	N	R	H
J	I	F	M	A	N	A	C	R	R	K	E	B	J
K	A	T	T	I	T	U	D	E	0	0	G	0	K
L	B	A	H	E	L	I	X	0	L	C	T	S	L
M	L	R	E	D	N	U	H	T	D	E	R	S	M
	1	2	3	4	5	6	7	8	9	10	11	12	

FIND THE FOLLOWING WORDS IN THE GRID.
THE LETTERS LEFT OVER SPELL OUT SOMETHING
THAT THE WORDS HAVE IN COMMON.

AMF	ноок
ATTITUDE	PEARL
BEAST	QUANTUM
BLUE	RAGE
BOSS	REACTIVE
BRUNSWICK	RED
BULLWHIP	RHINO PRO
COLUMBIA	RPM
COMBAT	STORM
CORE	THUNDER
DANGER	URETHANE
DEFENSE	WOLF
HAMMER	ZONE
HELIX	

Answers in next Issue of Bowling News.